: Question paper selection for Jr.Clerk Cum Typist in PB-1, 5200—20200+GP 1900
against 16—2/3% Debartmental quota (HQ) in SECR/Bilaspur

 Time:3hrs .~ Date: 30.09.12 " Total Marks: 85

Note: 7w g o
1. ueT U5 =) Ud 3o A ¥l
L The question papers is in both English and Hindi.

2 T we fErd gl aslqzﬁ'w'sﬁmﬁﬁﬁﬁaﬁzrré%q%mw
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2. All Questions are compulsory. Questions for Section A are to be answered in
English only as they are intended to test skills in English language. All other
questions can be answered in English/Hindi.

3. ariaRe frmen fear T 2|

3. Internal choice is given.

4. mwwmﬁqﬁmﬁﬁﬂﬂ@rmtﬂﬁ%mwmwﬁ
oreT SR URIGT BT Hedic el a1 S|

4. Please do not sign on the answer sheet or put any visible mark identification in the
question papers of the answer sheet otherwise the answer sheet may not be
evaluated.

5. mwéﬁwﬁwwmwmw%@; _

5. Please write the correct question number while answering the questions and the

sections mentioned. (i.e. Section A to Section F)

6. 3MHIE / Best of luck.

F ok

(Section A)

Q.1. Write a letter to your supervisor seeking 10 days leave to go to youf native place.
OR Write a letter to your elder brother inviting him for marriage of your eldest

daughter. (Marks: 2)
Q.2. (A) Write opposites:- (Any eight) (Marks: 4)
Q) Singular (i)  Legitimate  (iii) Minimum (iv)  Debit
(v) Judicious (vi)  Enhance (vii) Integration (viii) Freedom
(ix) Bright (%) Soft
Q.2. (B) Write Synonyms:- (Any eight) (Marks: 4)
(i) Squeeze (i) Contrary (iii)  Inclined (iv)  Abate
(v) Admire (vi)  Cease (vii)  Curious (viii) Modify
(ix) Evident (x) Emulate
Q.3. Form sentences:- (any three)‘ (Marks: 6)
(i). Actual, Factual (i) Chronic,;‘jChronological (iii) Decree, Degree

(iv) Long, Lengthy (V) Kindle, Kindly




Q.4. Complete the following proverbs:- (any eight) ‘ (Marksﬁ_ 4)
(i) Blood is thicker then ................ L

(i) A frie

nd in need is a friend...............

* (iii) Example is better than............... .

© (iv). Rome

was not builtina.........ceeeeee.

(v) A bird in hand is worth ............... Ceasadess in a bush.

i) ....... '

......... is the best medicine.

. (viD) ‘Man proposes god a ..............

(viii) Still waters run -............. PR ¢
(ix) A'thing of beauty iS .eoeveenn......forever.

(X) ASyOU SOW SO YOU:..ooneeenenn.

- Q.5. Fill up the blanks with correct conjunction: (any two) (Marks: 1)
(i) Heisslow............ He is sure.
(i) - She mustery............ : she will die.
(1il) Look...... .commsuss you leap.
(iv) -His shirt is not only dirty .........ccoovveeen. also torn.

Q.6. Study the below instructions and answer the question:- (any three) (Marks 3)
The following deficiencies/irregularities have been noticed in the maintenance of
the store records in some of the units of Sr. Subordinates.

)
(i)

(iii)
(vi)

™

Entries in the DMTR not serially numbered.

Blank spaces left in the DMTR in between successive entries and that
between the last entry of the day and the signature of the stock holder. No
link between the entries made in the DMTR with that appearing in the
Ledger. ‘

Classification of released materials not done. Ledger reference not indicated
in the DMTR against the corresponding transaction of material.
Over-writings/scoring out of the entries in the DMTR/Ledger without any
initial of the store holder. Thin registers being used as DMTR instead of
properly bound printed registers for recording transactions for a longer
period

Entries made in the DMTR/Ledger being not date-wise. Many entries
pertaining to transactions of later dates find place in the groups of entries of
much earlier dates recorded long back. This has been made possible by
filling up the blank rows/spaces left out between two consecutive entries.
Certzin materials issued to another unit, but the supporting challans found to
have been issued after a long time. There has also been no effort to get them
verified. No initial/signature of the Stores Clerk at the end of day’s entry or
that under the signature/stamp of Sr. Subordinate in the DMTR.

(vi) The statutory annual inspection/checking of the stores of Sr. Subordinates not

(vii)

- verification made by the Accounts Stock-verifiers.

done by the controiling AEN. Stock verification not done at the prescribed
interval.

In terms of para 1428 of the Engineering Code, regarding Departmental
Stock verification of Stores Balance, it is laid down that there should be a
frequent reconciliation of balances as shown in the numerical ledgers kept
by the subordinates (and as brought out in the half yearly statement) with the
actuai quantity in hand. Divisional Engineer should arrange . that
approximately one-sixth of the stock under each subordinate is verified by
actual count each month,: so that the whole divisional stock is verified at
least once every O months. This verification is in addition to the stock

2




Quéstioni-

(i) What should be done in case of overwriting/scoring out is done in the DMTR
' register? ' = ' o ,
" (i)~ What is the frequency for the Store Clerk to attest his signature for daily .~
transactions? . - . ' S : :
(iii)y ~ Stock verifiers normally belongs tc which department Stock verification is
to be done as per ............. ?

(iv)  What is the freqUegcy for the inspection of Stores of Senior subordinate by the
concerned AENs? . : o ; '

; - , ~ (Section B)

Q.7. True or False:- (any eight) (Mark: 8)

(1) W%Wwwmﬁwrwﬁaﬁmwmmmm
TE B

(i) Railway servant under suspension is not required to sign the attendance register
during the period of suspension.

(ii)@?ﬁmﬁwaﬁmﬂﬁmssm%‘l
(ii) The maximum limits of DCRG is 3.5 lakhs.

(iii)wwﬁaﬁaﬁ@mﬁ@%%aﬁﬁaﬂ%ﬂﬁmzﬁmmwm
FRISTA HRal Hebll ¢ |

‘(iii) An employee on retirement can commute 50% of his or her pension.

(iv)ﬁﬁﬁmﬁgmmmsaﬁmgmammm
&l

(iv) Workmen compensation act 1923 is novv called erhployees compensation act.

(v) %ﬁzﬁﬁﬂﬁzﬁmﬁaﬁ18006@@@%6@72400%%36@—:&5%
I B T I B |

(v) Staff with grade pay more than 1890 and upto 2400 are entitled for type-lll
quarters.

(vi) 13¢§aﬁsmﬁaﬁmaﬁﬁrﬁmaﬁmm%i

(vi) Financial year means period from 1% April of the current year to 31 March of next
year.

(vii}ﬁﬂmwwmﬁaﬁwaﬁﬂﬁgw@1q&éﬁ%mm
sfard 2|

(vii) It is mandatory to grant annual incrermants to Railway servants only on 1% July of a
year. '

( viii) LARSGESS %@1H & st Pfifeas oA & aga @ Racie &g W
wfeafera frar T |l € |

(viit) Ward’s of Ministerial staff are also eligible to be consider for appointment under
LARSGESS scheme. '

uﬁwﬁ?ﬁ%ﬁﬁgﬁﬁ@mﬁﬁﬁwmqﬁwﬁﬁmm%!
(ix) Normally persons recruited agaipst sports quota as Clerks/Sr.Clerks are required to
pass typing test within 4 years from the date of appointment.

3



(%) Hifders g/ ger aﬁaﬂ‘%aﬁﬁwa&zﬁ 120 2 @ foa o g 2
(x) Privilege pass/PTO can be issued 122 days in advance of beginning of riext year
- . against the next year account. . 1 AR .
(xi) zowﬁmma%@a%mwm@ﬁwz%W/ww
~ (xi Composite transfer grant for short distance within 20 Kilometers in case of
- _transfer/retirement of a railway employee is payable at the rate of half of basic pay.
(xii)qwﬁﬁzﬁmﬁﬂa%qwamﬁaﬁ’W‘Wﬁeﬁ%WWqﬁm
/SN e S e 2 - » o
(xii) Benefit of Passes/PTOs corresponding to the next higher grade pay granted under
MACP is permissible.

' (Section C) -
Answer Any Four:- - (Mark: 8)
q8. sin 60° cos 30° + cos 150° sin 120° T deg I 27

Q.8. What is the vaiue of sin 60° cos 30° + cos 150° sin 120°?

99, tan 30° tan 60° FpaT BT & ?
Q.9. tan 30° tan 60° equals to ?

g0, sin 15° %1 g fpa €7
Q.10 . The value of sin 15%is ?

1;1.11.4@@%%@@620%3&@%@&%@@&@%%@%22%#
ST 2| BT W B aey qd |

Q.11.If the mean of four observations is 20 and when a constant ¢ is added to each
observation the mean becomes 22 the value of ¢ is ?

g.12. zoasﬁ%fwaﬁwamsg.zzwwmlwﬁﬁgwwﬁswagﬁﬁ
1a@mmﬁaﬁﬁ87zﬁmwmmwaﬂmwﬁaﬁwm
AR |

Q.12.If the average weight of a group of 20 boys was calculated to be 89.4 kg. and it was
later discovered that one weight was misread as 78 kg. instead of the correct one of
87 kg., then the correct average weight (in kg.) is ?

7.13. Wﬁmﬁwsa&?qﬁmgﬂ%ﬁaweﬁi 10 T B gTETd fuar @
wgﬂ$$WﬁWTﬁlﬁWWWWl

Q.13. A fathers age before S years is 3 times the age of his son. 10 years Jater it will be
twice the age of a'son. Calculate their present age 7

.14 @Haﬁaﬂ?&?ﬁ&ﬂgouﬁ:@ﬁ@émﬁ%ﬁ%ﬂﬁmﬁmgﬁm%
aﬁﬁ%‘aﬁ?@?ﬁsqﬁmﬁa@m%aﬁmaﬁﬁmaﬁm

Q.14. Rahim spends 90% of his income. If his income is increased by 10% and the
expenditure is decreased by 5%. Calculate the percentage of his savings.

q.15.wmaﬁ??¢mmw%m%iW%Wwaaéwe:ﬁ—c‘\faﬁ?
Q.15. A rectangle has same area as ithat of a square if the length of a reetangle is 16
meters and width is 04 meters. What is the circumference of the square ?



‘ _ (Section D)
Q.16. Write an essay in about 150 words:-
- Yot i # WY TrET P AEE
- Importance of punctuality for Railway Service
: OR '
IR
My Inspiration
Co - OR /i :
o1 o7 3 g WEnfirdl 1 A

Advantages of ‘nformation technology in Railway working

Q.17. Write short notes on any four:-

(i) < de T F g TR

(i) Minor penalty under D&A rules.
(i) feaee gered

(i) Dearness allowance

(i) wRel U

(iii) School passes

(iv) e 13A of RS(Conduct) Rules, 1966 & aita Tiol dae urEdl
(iv) Dowry under Rule. 13A of RS(Conduct) Rules, 1965

(v) @ﬁ%aﬁ?ﬂ?%ﬁ?ﬁaﬁaﬁEﬁﬁﬁ@m

(v) Consumption of intoxicating drinks and drugs during duty

(vi) GRIREEH
(vi) PREM

( vii) BT
(vii) DMTR

Q.18. Mention one major difference:- (any four)

(i)ﬁﬂ\?lﬂaﬁ'\!%ﬂﬁw

(i) Removal and Disraissal

(i) SMHRAD AAD Td e SadT
(ii) CL and RH

(i) STTEIR T THSEYIR
(iii) GSR and SWR

(iv) wergd Td BIMS IRER

(ivy Continues and ©1 roster

(Mark: 4)

(Mark: 8)

(Mark: 8)



() e T AR
(y);Appremiw and Tr‘ainees‘ K
(i) dugd e
(vi) TA and DA~ Y
(vii) o T S

© - (vii) Selection and Non selection

' v(Section E)

'Q.19.What do thefoilowiﬁg abbreviation stand for:- (any eight) (Marks 8)

() IREC (i) SDGM . @) EFT (iv)y SECRWWO

(v RTE (vi) CRIS (vii) 1OA (viii) PREM

(ix) AIRF (x) NBR

Choose the correct alternative:- (any eight) (Marks 8)

qzo.mﬁﬁﬂwaﬁﬁsﬂaﬁzﬁﬁwémmmgﬁamﬁaﬁ%ﬁ
fro R foe R | e 2|

Q.20.Silver medalist in recent London Olympics Vijay Kumar belong to which
organization. ‘

@ () W () TREST (d) =7 | BIE T

(a) Army (b) Railways (c) Air India (d) None of the above.

g21. R TG B RIS BT Tim

Q.21.The author of the book “Dare to do’ 1s:-

(@) foe &< (b) ereem <0 (c) FEed) (d) =T S

(a) Kiran Bedi (b) Aruna Roy  (¢) Arundhati Roy (d) Sobha Day

g2 Rwel AF TEA H oo WWW’%@HBA]CWWWW%!
Q.22.HBA1C test is done to a test levelsof ... ....... in the preceding three months.
G ww () =S YR () PRE (d) 37 | BIg T
(a) Pulse (b) Blood Sugar (¢) Cholesterol (d) None of the above.

g3, TRE ER@BR F aHE TSl DI T

Q.23. The current CAG of the Government of India is:-

W RRewm () @ (0TI (@) = @ 3 T
(a) Vinod Rai (b) Gopal Rai (c) A.Basu  (d) None of the above.

o4 PISTRA U BT Siber M T -

(Q.24. The chemical name of Vitamin A is:-

@) (em () e (© Prarfad (@) s 9 CIRRRE]
{a) Retinal (b) Biotin (¢) Niacin (¢) None of the abeve.

g.zs.gra'ﬁﬁm?ﬁzﬁqmﬁwmﬁ%ﬁ
Q.25. Prime Minister Manmohan Singh has recently celebrated his ........... birthday.
(a 75 (by 78 (©) 79 (d) 80.

526, AT BUA B TIR AT B BT ¥ R T R B AR 9T T
Q.26. Which aircraft of Boeing has been inducted in the fleet of Air India:-
(@) SHARETR b)) ERARE (o HED (d) 37 Jq PIS AL

(a) Dream.liner . (b) Curiosity (c) Hawk (d) None of the above



o7, Prw dw ) AfE B A W N waifg e o B
Q,27. Which country is called as Pommies:

W e ()  omefm () =oes  (d) $ W o

(a)y Englaﬁd (b) Ausfralia  (c) New Zealand : (d) None of the ,ab()ye E A
.28, TF Y& Qad BT 9D R GRAW H A ST YA RET S e
gt : .
(@ 6 (b)) 3 (c)y 4 (d = A P T
Q.28 Leave encashment is permissible for ........... times in the carreer of a Railway
Servant.
(a) 6 - (b) 3 (c) E (d)  None of the above

u.zg.wWWaﬁaﬁmmmﬂérﬁwmaﬁaﬁmmaﬁ%..._
...... Tﬂiﬁa@?ﬁ%ﬁﬁiﬂwaﬁw?ﬁaﬁwﬁ%l ‘

(@ 2 (b 3 () 4 d) T A DI T

Q.29 Intimation is to be given by a Railway Servant in respect of movable property if the

value of such property exceeds ............. months basic pay.
(@ 2 (b) 3 (c) & (d)  None of the above

g.so.WWﬁng@mﬁ%mWWﬁm
T & BT A AT E |

Q.30 The name of the story written by Rabindranath Tagore during his visit to Bilaspur
and displayed at the Bilaspur Railway Station is

@ SRwE () gt @@ () T 9 e A

(a) Deception (b) Inspiration  (€) Coolie (d) None of the above

G131, TG Yo R Hal RAT B

(&) faeel () TR () WR (d) TeemgR

Q.31 NG Rail Museum is situated at ............

(a) Delhi (b)  Nagpur (©) Raipur (d) Bilaspur

q.sz.%w%ﬁ%f@ﬁmwﬁwwm%mw
T B F) fRerd ford gl 21

Q.32 Not to be .......ocoeenes shunted is written on goods train wagons carrying
inflammatory materials.

(@) <= b) =mz (o) el (d) =% ¥ BIg T8l
(a) Loose (b) Tight (c) Solo  (d) None of the above

T



_ (Section_ ") % .
9133, TOTTYT TRAATST &% AT AT Sl & | R 2(3) B 3fra o f5Y A A
ﬁﬁ% 8 THIES BT oo BV | 5B oot BT Srages] [ Bl © |
3. (i) When is the Rajbhasa fortnight held. Mention any 8 documents which are to be
issued  bilingual compulsory? Who is  responsible in case there s
contravention/violation of section 3(3) of ofﬁmal language act of govemmem of
India. : : : : . ‘ ' (Marks 8)

OR

5.33, SN & WW%WW%@W%W EREESK
faRor & | (ﬁﬁ%ﬁﬁ)a@%é&ﬁvﬁ%ﬁm%;rﬁﬂﬁw
RS RIS STRIHT BT B 3 |

(.33. Specify the awards/incentives for 1mplementat10n of Hindi in Central Government
offices (Mention two) Lakshdeep comes under the which reason? Who is the
additional MRA in the division?

OR

v33..(1) 7 Wiftrs, iR, dea e R g 3 0, 4 I, ok 5 0 2 iR S @

TR e & ®U F e far A1 € Saa vARe [{e @1 MfyTd qar @ |
(i) T WIse Haer Riefex vd o7 e 9918 ok 39 a4 THAM §, §716 ATaT S

3IUIT T BT

(0.33. (i) Three solid spherical metal beads of radii 3 cm, 4cm, and 5 cms are melted into

. a spherical bead. What will be the new radius?

(ii) The ratio of volume of a right circular cylinder and cone with the same height
and base radiusis

(Marks 8)

34, SR ST Brata AR B 9oF B A T 8 AT HSel WX TR TSI
FTaTaa Ay & Jod B odfy w1 ®

().34. What is the periodicity of meetings of Zonal Rajbhasa implementation committee
or What is the periodicity of meetings of Divisional level Rajhhasa implementation
committee? (Marks 1)

OR
().34. The sum of first 45 natural numbers is..........

T34 UECh 45 UTHd WA BT AT B L.

ok ok
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